amwya 7"7 'o1n XA n2w .7"02

By its doing — Nyl

OVERVIEW

’27 taught in a Xn»72 that the word nnwya teaches that there is a nXvA 211 only if
7910 DR 7w but not an¥pn DX s, and likewise 20 MR TwwE e but 00w
e amR Wy, First n190n explains how we derive this 0¥ from 7mwya. Then
mooIn explains what we are excluding from 7mwya and what is not excluded from
My,

— NNYPN DYIYH KDY 79I NN DYIYN 109) 0399010 Y93
All the texts read: (that Tmwya qualifies;) only if ‘one does it entirely, but not if

one does it partially (and the text continues) -
— 1199109 MINYYY DY 29N NN NYIY N’

An individual who did it is 291, however if two did it they are >w2’. This
concludes the reading of the text 019077 922.

N11B0IN comments:
—2YaIN INP NNYYAT AR NIPT NPOVD

The simple reading of the verse indicates that nmwya (by its [her] doing) is

referring to the ws1 (the person) -
— 3N MVYYA 99195 NARDNN 7Y YWINT ©7VN YaN

However the X773 interprets the ‘it’ to refer to the 7o8%%»; meaning, ‘when the

person does ‘it”’.
— 5191 995 NYN 1IN) NN AN 1PIY N1a 39999 41919

And the entire interpretation (meaning both clauses) is discussing the same case

! This would (seemingly) indicate that there are two exclusions derived from 7MWwy3; one is AN¥PR DX 7WWn and the
other is MXWyw ow. See footnote # 4.

2 The 09 (in 12,7 X7p*) reads: OWRY MIWYN R? WK 77 N2 DAX ANWY2 PIRT QY2 73W32 ROAN DAX wo1 arl. The word
wo1 is feminine (NnX wol); the word nnwya means [that the wo1 sinned 2w2a] ‘by it (her) doing’ [a transgressing of a
prohibition]. The X"77 P*on in 7nwya refers to the wo1l; it was her doing that caused the Xvr. Were we to follow the
simple meaning of the P1oo (that Tmwya refers to the person) we would not be able to exclude &2 7913 X AWwWa
TNXPR DR YW, since IMWY2 is not referring to the 7772y (to the 7o89n). [However we would be able to exclude oow
MRWYW since it is not MWy, See 1"mMn.] The simple meaning cannot refer to the 7772y (when it did ‘it’ — the 77°2Y),
for the 77°2v is specifically mentioned further in the P105 (where it states mawyn X7 WK 77 ¥ NOX)

3 If we understand that X"77 5% of imwya to refer to the 719X9n then it is understood that one is liable only if he did
‘it’, the entire 7719877 but not if he did a partial 708%7%. That would not be considered doing ‘it’.

4 The Xn™12 (seemingly) derives two rules from 7nwy2, one that NP DR AW X921 7212 DX 7w, and also 7wy 7w
0 MR WY 221w 21 MR, However, n19010 explains that both these mwn7 are really one 7wn7; the P05 comes to
exclude, that in a case of m°I» 111 7w 71, there is no j27p 217.

3 See ‘Thinking it over’ # 1.
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of one making an 79°py and the other making the 77377, and the two phrases ( X7
angpn v and MXWYY '2) are merely a duplicity.

mooIN rejects an alternate explanation:®
— PAN N2 MINYYY 723 299N NINVUYY 72T 913910 NI

And we cannot say that when the Xn*12 excludes ‘two who did the 7ox%72’, it is

discussing a case where two people did the 70X%» simultaneously -
— N1 N APIY DY INIP 291 299987 YNIVN (owr x8 mpy) YIINNN PI92T

For in yo1xn»7 pop it is apparent that two 25?102 are necessary, one P09 is
necessary to exclude (from a nXvwn 2117) a case where one makes the 79°pY and

the other makes the 727 -
— NNN N3 NAINDN VYV 72y

And another 7109 is necessary to exclude the case where two people did a moR®%

simultaneously. Therefore we cannot say here that the one P05 of Tmwya excludes both 71
I 71 P and DAR 123 F7ORYD WYY 2.

moon offers an additional proof that the exclusion of 131 MR AWy 71 is referring to AN PW 77
m1 (and not to X"22 7R WYY '2):
—9919) NN DY 1IN NIYD IND 9INRP 22 PHINNDN INPT 92 MMNINAT T

And furthermore in the 's»1 9%2n°R' which is referencing our mw» (regarding 7

M1 AN 7Pw) this same expression is used, namely aPIR WYY 79, etc. this
indicates that the exclusion of Pmwd IMR W 2 is referring (not to X"22 7oK Wyw "3, but
rather) to 1°3 71 P 77; the case in our TIwn.

n1voIN asks:
— 7HNNMD IN WO NP NN N IPIY NTT YNYN (ow) YINNN PIDAT NYP IN

However, there is a difficulty for in ¥>132%77 99 it seems that the exclusion of 77

o1 71 P is derived from either the word wa1 or the word nnN -
— AMYYAN 1Y NP NI

However, here r°an 7n 99w 77 1s excluded from the word n2wa. Our mooin offers
no answer to this question.®

¢ Seemingly (while the TwA7 of AN¥PA DR AW X7 7213 X "wwi excludes man M Pw 1) the AwAT of AMR AW T
WS MR W 01w 21 should seemingly exclude a case where two people together made the nmim 77°py, and
nevertheless they are both 75, [We could seemingly derive this by interpreting inw¥y2a to refer (also) to the wo1 (see
previous footnote # 2).] However m»oin rejects this explanation.

7 According to *" w"9 the 75 of M M pw A7 is derived from wo1 (alone) while according to n" it is derived
from nnX [wo1]. No one [there] maintains that it is derived from mnwya.

8 See 0"nm 2717 WY and PRI WK
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nvoIN asks:
—9)9W1a 750 NI DT APIY NTT INYN NVAY KD 139998171 PNYY 13%39Y YD

The 5""9 has a difficulty; since we require a 105 to exclude r°1n 71 W 71, this

would indicate that 1517 711 92w 77 took place in the 9w -
— 109935 139N N1 9197 1IN NT PYNY 229 VI M) (.ov nt oy PIYNN P93

And in p°1372577 P75 we find that @''9 also exempts a case of 2127 1398 771 912% 19K 77 -
— 1119981 NN PPNUVNIY 72 1119 19YNa NNV 29 YY 9N

Even though that this occurred in the 3own», for instance two people that

carried the 19R. We have now established that there are cases where certain activities
involving two people took place in the pwn and nevertheless they are 77w5 because of the
various 2 0YN.

Moo continues with the question:
— 915 ©390 MYHL MNXIVHN SNV PINT XANX PN P99 1MW)

And in 5»5219 7170 in P 0 regarding the mawn which states, ‘two porches

in the 2''719, etc. -
— 22N VYYD HNN RVITL YNV 1N

If they were both in the same side of the 7"7, one who transfers from one

X011 to the other is 2991”5 this concludes the mwn. The 2w comments -
— a1 by 72532y XYM Y29 OWAa NN 29 N

N7 29 stated in the name of Xw>» ', this rule that the vwn is 217 is valid only

if it is done by two people. There must be someone receiving it from the vw»; he cannot

merely put it down in the other Xunm.
— 12950 NINN JNII P9IV NMINYIY /2 HINN 9NN 753 7°99)

And the *n?21 asks; everywhere you claim that P9ws mRwyw 'a and here by

v you rule that they are 212!
— 120550 NI NNN JoV YN

And the »n>w1° answered that this was the manner of service by the 2. This
concludes the citation from the "nw1.

9 If there was no case of ™ aAn 9PW 77 in the 1own, why would it enter our minds that he should be 2»n (and
therefore necessitate a P105 that he is 71wd). Especially since noon taught us previously (vws 7"7 8,2) that the M7
of 11X¥17 must have occurred in the 1own!

10If two people carried out a large item which neither of them could have carried it out by himself (this is 21> X 71
9127 W°R 717), W' maintains that they are s (while >3 maintains that they are 27n).

"' The 1R is considered 121 712> 1R 771 because of its weight, or perhaps since it was carried by the staves, it is
impossible for one "7 to carry the 117K by lifting only one set of staves.

12 See TIE vws 7"7 R,2 Moo footnote # 10. The 0™ passed the w1p from one 723y to the next (like MW '2);
however there was a "7 in the receiving 1723 as well, who put it down in that 7%5v.
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Mmoo presents the question:
— VYVIN VY NYY NN DIPN YN 19YWNI NNPNY 793 NN RNYN)

And now (that we have established that there are other cases involving two people
that took place in the 1own and are nevertheless My, so) what of it that v took

place in the 19w with two people; nevertheless w1 should be 9D -
— NN PYIY DNIYT 11
Since two people are participating! We have already established that whenever two

people do a noR%n whether it is [ N W AT or MRWYW '2 they are always Mo, why is 0w
any different?!

NID0IN answers:
— NND N APIY NT PR VIVINIT PNYS 13939D AN

And it is the view of the 3''1 that v is not a case of 1% 71 2w 77 -
— NN NPY NYY VIVINN NIN

But rather the vy made the 79%PY and the 71737 in the hand of the receiver (and the
receiver [after it was placed in his hand] placed it down on the wagon). Therefore the v wa is
2n for it is not °1n AN PW AT

nooIn responds to an anticipated question:'?
— 9791 YaPN 19°2NWI NOHN VYN 299NN 1INV NNN NIN NIYWITA NYD NOVH XD

And the 252 had no difficulty why the v>w is 21 (since he made the 7Py
711m), but rather the difficulty was, why is the 31 v only if his friend

receives it from his hand -
— 909 [9NN] N0 VI IY 1NN VIVINND ON YaN

However, if the v put the w77 down on the other »'';19 without the assistance

of his friend he is "D -
— MNVYY '3 1)) [*91V] 9199 192N »7 Sy 1=)I7)A] 5919

But everywhere else if the 70X is done through the assistance of his friend he is
[more likely to be] m1up, for instance MNWYw '3 -

99520 7 HY NIN 2N 130N JND)
And here (by v’w) he is 2917 only if it is done with the assistance of his friend

(and not if he did it alone). The "»>w1 answered that this was the 027 N2y, that LW was
done only with the assistance of another 1.4

13 We now asserting that the v>wn did the entire 7oX%%; the 7m3m 7py; why then does the *nw1 ask that always "2
10D YMRYYY and here it is 121, since it is not YMRWYW '3, for the v did everything!
14 See ‘Thinking it over’ # 2.
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SUMMARY

There are two 0’08 ([nnR] wo1 and mMwya) which exclude (individually) pw 77
man 71 and X"22 79892 WYR 2 from a nXwvn 1277, The vwin does both the 77°py and
the 7m377; however it is unusual for it requires that the 7137 be made on the hand of
another person and not on the mw.

THINKING IT OVER

1. MdOIN states that PWVD TMR W "2 20 IMK WYY 700 is merely a 791 995 of the
previous phrase 7n¥pn DX AWWI X2 7212 DX 7w wia.'° Why cannot we say that wwi
NgPn DR AwIwn XY 710 NXR excludes the apw (who is surely Two as moon
mentioned previously'®) and 1Mo 70X W 2 excludes the %1 (even though that
PPN 7IRYA RTAvNR)?Y

2. mooIn explained that the "»n>w1® was bothered that usually two people
combining for a 779X%» makes one less liable, and by v he is only liable if some
one else receives it. The "n7w17 answers that this was the 027 n712v.'® However if
the general rule is that one is more liable if he does it himself, so granted that in the
1DWn it was an assisted 70KX9n, nevertheless why should we assume that if it is
unassisted he should be 1wo?!"?

15 See footnote # 5.

16 pmaw 7.

17 See axt M7 and wR nRIn.
18 See footnote # 14.

19 See mama K.
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